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Introduction
In RAN1 #110, the following TP on beam application time is agreed.
	Agreement
The following TP is agreed for TS38.214. Final CR in R1-2208100.
< Unchanged parts are omitted >
When the UE would transmit the last symbol of a PUCCH with HARQ-ACK information or a PUSCH with HARQ-ACK information corresponding to the DCI carrying the TCI State indication and without DL assignment, or corresponding to the PDSCH scheduling by the DCI carrying the TCI State indication, and if the indicated TCI State is different from the previously indicated one, the indicated DLorJointTCIState or UL-TCIstate should be applied starting from the first slot that is at least  symbols after the last symbol of the PUCCH or the PUSCH. The first slot and the  symbols are both determined on the carrieractive BWP with the smallest SCS among the active BWP(s) of the carrier(s) applying the beam indication. 
< Unchanged parts are omitted >




In this contribution, we provide some discussions on the active BWP selection to determine the beam application time.
Discussion
Since the BAT is considered based on all active BWPs from the target CCs for the indicated TCI state, it is possible that the active BWPs for some CCs could be different at different time as shown in Figure 1. The BWP change could be known by the gNB, e.g. based on BWP switching signaling, or unknown by the gNB, e.g. timer UE-autonomous BWP switching.
[image: ]
Figure 1: Potential issue for BAT determination for active BWP counting
It is necessary to clarify the active BWP to determine the BAT based on one of the following options:
· Option 1: The active BWP is determined based on the active BWP with the smallest SCS among the active BWP(s) from the applying CCs in the slot with the TCI indication
· Option 2: The active BWP is determined based on the active BWP with the smallest SCS among the active BWP(s) from the applying CCs in the slot with the HARQ-ACK for the TCI indication

Proposal 1: clarify the active BWP to determine the BAT based on one of the following options:
· Option 1: The active BWP is determined based on the active BWP with the smallest SCS among the active BWP(s) from the applying CCs in the slot with the TCI indication
· Option 2: The active BWP is determined based on the active BWP with the smallest SCS among the active BWP(s) from the applying CCs in the slot with the HARQ-ACK for the TCI indication

Conclusion
In this contribution, we provided discussion on active BWP determination for beam application time. Based on the discussion, the following proposals have been achieved.
Proposal 1: clarify the active BWP to determine the BAT based on one of the following options:
· Option 1: The active BWP is determined based on the active BWP with the smallest SCS among the active BWP(s) from the applying CCs in the slot with the TCI indication
· Option 2: The active BWP is determined based on the active BWP with the smallest SCS among the active BWP(s) from the applying CCs in the slot with the HARQ-ACK for the TCI indication
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Beam application time determined based on 
BWP {1, 2, 3, 4} or BWP {1, 5, 3, 4}?











